
10. ' A university has 3000 students. These ii"o"nls;"; dfiid"d fii; a catego.ibs:

, 
t B' Tech

: 
. M. Tech
. M.S.

i 
o Ph.D

, Drarv a-,florv-chart fo,r finding the- percentage of the students in each ca,tegory,
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i A fiilk ffi s00 ;mpiotds. th; iliary t;id a; ailh e*p6t& iJ i;m ;i tis b*ic pat;: Dearness Allowance and House rent allowance. For the purpose of computing house. rent allowance bank has classified his employees ioto th."* classes A, B and c. The. house rent allowance for each class ir .o*'p"iJ;ft"- rate of 30 percent, 20 percent. and 10 perbent of the. b1ft n-uv n.*n""tively. The dearness allowance is computed at a, flat rate of 60 perce-nt 
9f the basic pay. Draw a flow chart to determine the percentageof employee falring in the each of tile ioilowing rurury ,1un*
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,,,,,,,.. ' ' ' ' ' ' ' ' ' ... ' ' ' , '
A Book pubrishei ;ffeil dil;u;i-to-a;ai;*;il o" til b;sia ;f-c;J;m;r type andnumber of copies ordered as shown below:

Customer Tvne '
- '

Book Seller ,

1 Less thg4 91 eg.y-g!to, ! _

% of Discouni
2t
1 {

, 2 0
i 1 0

Number of copies ordered
Moi" ttran iO 

-

Less than or equal to l0
More than 5Library

customer number, name, typeo book number, number of copies ordered and unitprice are given as input. Draw a flowchart to calculate the net amount of the bill for
each customer and print it. The above is to be carried out for 50 customers.
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13. . An electric suppty d-pilt;il;s;s;il ioiio;il;;;a; fi;m ii; ;;;"m;"s;

No. of units consumed
Fbr itre nrst ZbO units
For the next 300 units
6!,;.,ion !ilitu=-r 

:'-': - '' :':-' -: --:

Charges/ unit (Rs)
2 :50
3.50
s.00

. 9!Tp"t.r Database of the company_has the following information: Consumer Name,: Address, Unit Consumed, BiIl Date, payment Date.

i I11h. 
consumer pays his billwithin 15 days from the bill,date, l0yo discount is given.

' I-f he makes the payment after 15 days from the bill date, 6z ,,r.iarge is levied.
. Draw a flowchart fo calculate the net amount of the bill for each consumer and print
i it.
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uorv chart io comput" urrd print trr"o-"iu*, Surcharge and Education .ess onthe in_come of a person' where income is to be read from terminal and tax is to ber calculated as per the following rates:

: SIab (in Rs.)
1 t o 1 0 0 0 0 0 '  

:  '  
.

100001 to 150000
i'i,5m01 toxo'Ooo, ', ' 

..'j _,'
. 250001 onwards ;

_ ^  NoTax
@I0% of amount above 100000

Rs.^5000 i 20% of ambunt above isbobo
Rs, 2500-0 + 30%,9 of pqount a-bov-e )5OOOO

o Surcharge: @ l0o/o on the amount of total tax, if the income of the person
exceeds Rs. 10 lacs.

o Education Cess: 2o/o ontotal tax.
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1s. . Consider th; f;ii;;ininow"irr"t,

: a) What is the output of the flowchart?

i b]J" 
!l"pl' put 1{ in place of 1=1, whar will be rhe output then?

' ? If S_tep B, put 1=6 in place of l=1, what will be the output then?
d) In the given flowchart, replace 1= 0 by l=l atstep A. wt ut will be the output?

7,=1* " Y.Ztt, Z=W,$'{. t-#
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i i L l N = l
i j L2 Print N

i  L 3  N = N x ( N + 1 )
: L4 STOP when N exceeds 100
i Ls coro L2

i bJ lirt the output for the above program.

. O List the output if the above program is modified in the step Ll as N=0

a,) srP&r

I

c)

OIT ASt

0J N.=D, a,vlr^rk

l ,  2 , 6, ? A,

Ur:ilL bL D, 6, o, o ('fo'\'*'le tvuVl


